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Section A (24 marks) Do not
Questions 1 to 12 carmy 2 marks each. Write your answers in the spaces mg’m
provided. Show your workings clearly. For questions which require unils,

give your answers in the units siated.

1. The figure below is divided inlo equal paris.
What fraction of the figure is shaded?

———

Ans:

2. What is the time shown on the clock below?

3. (a) Write § km 18 m in metres.
{b) Write 4109 m in kilornetres and metres.

Ans: {a) ' m
{b). km m
2 {Co on io the nexdt page)
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4. The graph below shows the number of vehicies parked at a shopping

Do not
writein
Vehicles parked at a Shopping Centre
torry
g Car
£ :
- '
gmmte 5
1
WVan g .
— SR W— - ; K 4 "'5:'
o 0 0 30 ] 50 6
Number of Vehices
How many cars and vans wera parked at the shopping centre altogether?
Ans:
5. Amange the following fractions in order.
Begin with the greatest fraction.
2 2 2
5'3%¢g
Ans: . 1. 1
greatest
3 {Go on o the next page)
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. 1.4 Do not
6. fFing the value of P + 3" wrils in
this space.
Ans:
7. The school assembly started at 8 a.m. itended at 9.86a.m.
How long was the school assembly?
Ans.._____h mins
8. What is the mass of the pineapple?
3
4 {Go on io the next pags)
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9. The bar graph below shows the number of students buying food from the

Do not
write in
school canteen. this space.
Students at a School Canteen
40
3
301
Numberof 1
studente 207
104
ot
Porridge Spaghetti Fried Rice Noodle Soup
Type of food
Which type of food was sold twice as much as porridge?
Ans:
10. The mass of a box of cookies is 710p. It is 600g lighter than a packet of Rour.
Find the mass of the packet of fiour.
Ans: _ kg g
5 {Go on to the next page)
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11. Ajug has a capacity of 1020 ml. 740 mi of water was poured info the jJug. | ponot

: wrilein
How much more water Is needed to fill the jug completely? this space.
Ans: ml -
g9 2
12. Find the value ofﬁ - 5
White the answer in its simplest form.
Ans:
8 {Goon o the next page)
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Section B {18 marks)

Guestions 13 {0 16 carry 4 marks each. Show your working clsarly and write
your answers in the spacas provided. The number of marks available is shown
inbrackets [ ]at the end of each question or part-question.

13. The bar graph below shows the number of cookies sold at a bakery.

Cookies Sold at a Bakery

Monday
Tuesday
Wednesday
Thursday

Friday

O 1 20 30 4 SO 6 70 80 9% 100 130 120 I30
Number of cookies soid

{2) How many more cookies were sold on Friday than on Tuesday?
{b) What was the total number of cookies sold from Monday to Friday?

Ans: {2} : (=
(b}, 24

Do not
write In
this space.

7 (3o on 1o the next page)
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14. Mr Halim bought a Z-Ai‘j&e botite of fruit jg;?fe. He poured some of the juice! Do not

= T

LECh o fass oo
equally into 7 g!assesx 1125 rn?

{a) How much fruit juice was poured out?
{b) What is the capacify of each glass?

of fruit juice was left in the boitle. wiite in

this space.

Yoo Ans:(a) 2
(b) (2}
8 {Go on to the next page)
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158, There were 468 children at &2 Funfair camival.

Bo not
There were twice as many chidren as women. wrile In
this space.
The number of men was 50 more than the nurber of women.
{a) How many men were there at the camival?
{b} How many people were there at the camival altogether?
Ans: {a} . 4]
(b [
- 9 {Go on to the next page)
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16. Jon and May shared a box of marbles. There were 320 marbies in the Do not

box. Jon had 46 more marbles than May. How many marbles did May m‘es’p"ac&

receive?

Ans: M

End of Paper
10
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ANSWER KEY
YEAR  202%
LEVEL : Primary 3
SCHOOL : Rosyth School
SUBIECT : MATHEMATICS
TERM : Weighted Assessment 2
Section A
at (3 Qz |4.40
8
Q3 | {a) 5km 18m = 5018m Q4 | 45+60=105
| (5}4109m =4km 109m
Qs |2 2 Z a6 |1 2. %
13°'5°9 6 6 ¢
Q7 | 1h5min Q8 | 1400
Q9 | 12x2 =24 Q10 | 710+600=1310
Ans : Noodle Soup 1 1310g = 1kg 310g
Q11 | 1020-740=280 Q212_ 4
. 5 10
3 _2_5
10 10 10
3.1
102
Section B
Qi3 | {(a) 125-95=30 Q4 { {a) 2 = 2000ml
| (b) 65+95+45+70+125=400 2000-1125=875m!
‘ (b) 875+ 7 = 125ml
Q15 | (a} 468+ 2 = 234 Q16 | 320-46=274
234+50=284 274+ 2 = 137
(b) 2844234+468=986
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